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Part A: Grammar and Vocabulary

Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see
four words or phrases, marked (1), (2) , (3), and (4). Choose the one word or phrase that
best completes the sentence. Then mark your answer sheet.

76. The employees ............. to the manager as soon as they occurred realized that they were more
easily and quickly solved.
1) reported the problems 2) who reported the problems
3) that the problems they reported 4) whom the problems reported

77. It is important for every single individual living in this world ............. hard to protect the
environment.
1) to work 2) for working 3) and works 4) that works

78. Tired ............. the careless employee’s endless mistakes, the boss sent him to another department.
1) about 2) with 3) for 4) of

79.1.ccuennnnnen. a game of tennis with Mike when Sue .............

1) finished/ had arrived 2) had finished/ arrived 3) finished/ has arrived  4) have finished/ arrived
80. Port Aransas is a city in which the people’s income is entirely dependent on tourism. That is why

they do whatever ............. to make the city attractive for them.
1) exact 2) immediate 3) necessary 4) serious
81. The mother asked the teacher to kindly keep her ............. her child’s progress at school.
1) informed of 2) interested in 3) careful about 4) friendly towards
82. William Faulkner once stated that the man who ............. a mountain begins by carrying away
small stones.
1) cross 2) defend 3) measure 4) climb
83. Muslims always ............. their shoes before entering a mosque or other holy places.
1) take off 2) turn off 3) make up 4) call up
84. Some people believe that if we try to ............. our feeling openly, it can enhance our health.
1) express 2) involve 3) lower 4) state
85. Sometimes a higher price does not ............. mean that the service you are buying is of high
quality.
1) commonly 2) carefully 3) publicly 4) necessarily
86. She said that she was not ............. to answer any question then and asked the journalists to leave
quickly.
1) willing 2) aware 3) nervous 4) reasonable
87. The students have all studied hard; I expect them all to ............. well on the exam.
1) inform 2) restate 3) perform 4) express

Part B: Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and
decide which choice (1), (2), (3), or (4) best fits each space. Then mark your answer sheet.

There is concern over the fact that many animals and plants are in danger of dying out, or
becoming extinct. But ever ...... (88)...... life began, animals and plants have died out, to be replaced
by others. This ...... (89)...... is part of nature. As the conditions on Earth change, some living things
cannot adapt; they eventually become extinct. Scientists believe that 99 percent of all the different
plants and animals that ever lived have died out ...... 90)...... . In prehistoric times there
...... (91)...... mass extinctions when hundreds of different things died out together. These extinctions
were often due to significant changes in climate. About 225 million years ago 90 percent of all the
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living things in the sea died out. Today animals and plants are dying out ...... 92)...... because
humans damage and destroy the areas where they live.
88. 1) for 2) since 3) when 4) during
89. 1) relation 2) method 3) attempt 4) process
90. 1) actually 2) hardly 3) naturally 4) immediately
91.1) were 2) made 3) had 4) did
92.1) the most quick 2) more quick 3) the most quickly 4) more quickly

Part C: Reading Comprehension

Directions: In this part of the test, you will read two passages. Each passage is followed by

four questions. Answer the questions by choosing the best choice (1), (2), (3), or (4) . Then
mark your answer sheet.

Reading 1:

For many years people have been trying to create a simple universal language that would serve all
over the world as a common means of communication. In the last three hundred years, more than
seven hundred such languages have been suggested. The most successful and the most popular of these
is a language called Esperanto. It was invented by Ludwig Zamenhof, who lived in Poland. When he
was growing up, he saw that people from different backgrounds who lived in Poland had lots of
difficulties communicating with each other. This often led to disagreements. Ludwig felt that a
common language would help them understand each other better and agree with each other. So he
began working on a common international language. He started his work while he was still at school!
In 1887, he published some information about his new language. He did not use his real name. He used
the name Dr. Esperanto (which means “one who hopes”). Soon people from all over the world became
interested in his language, called Esperanto. Today, Esperanto is spoken by about eight million people
throughout the world. Many governments and international organizations recognize it in many ways.
Esperanto is often used on radio broadcasts from official government stations.

93. What is the reading mainly about?

1) the life of a Polish school boy. 2) invention of a universal language

3) how Esperanto has helped peoplein 4 4) how people often do not understand each other
94. What does the word “these” ion line 4 refer to?

1) years 2) means 3) people 4) languages

95. Which of the following statements is TRUE?

1) Ludwig was afraid of people, so he changed his name.

2) Ludwig started to work on his idea when he was very young.

3) Esperanto has been widely used for the last three hundred years.

4) Many people did not understand Ludwig, so they disagreed with him.
96. What do we understand about Ludwig Zamenhof?

1) he was hopeful that his invention would become successful one day.

2) he had difficulty communicating with people when he was growing up.

3) he spoke to eight million people in Esperanto.

4) he worked at an official radio station.

Reading 2:

Leonardo da Vinci was born in 1452 in the area of Florence, Italy. He did many things. He was a
scientist, inventor, musician, mathematician, and architect. He knew about animals and plants, too. He
could do many things well. Leonardo was famous for his painting. He painted the Mona Lisa and The
last Supper. They are his most famous paintings, and many people know about them. He started
working on the last Supper in 1495 in Milan and finished it in 1498. He started working on Mona Lisa
in 1503 in Italy and finished it a short time before he died. It is now in France. Leonardo’s paintings
were very good. He understood how human bodies worked. Besides, he knew how happy or sad people
looked because he knew how emotion looked on people’s faces. Since he understood nature, light, and
shadow, his paintings looked real. Leonardo had many ideas for inventions. He drew plans for a

-
oSS s o

2 p30KonKor.com



NP
Highlight

NP
Typewriter
in

NP
Highlight

NP
Typewriter
4


0 o0
J ’

A 555 sl 19037 O | O

helicopter as well as a tank. He even had an idea for a calculator. He had an idea for making solar
power, which is power that comes from the sun. Leonardo lived at the same time as Michele Angelo
and Raphael. He was 27 years older than Michele Angelo and 31 years older than Raphael. Leonardo
died in 1591.

97. According to the reading, which of the following was Leonardo NOT good at?

1) art 2) biology 3) chemistry 4) psychology
98. What does the word “them” in line 4 refer to?

1) many people 2) animals and plants

3) all Leonardo’s painting 4) Mona Lisa and The last Supper

99. Which of the following can be concluded from the reading?
1) Mona Lisa took a longer time to finish than The last Supper The Last Supper.
2) Leonardo painted Mona Lisa when he was still young.
3) Leonardo finished Mona Lisa in a short time.
4) Leonardo painted Mona Lisa in France.
100. Which of the following do we understand about Leonardo?
1) he never thought of invention something that could be used during war time.
2) he was interested in finding ways of obtaining energy from the sun.
3) he was aware of all natural elements when he made an invention.
4) he died when the famous artist Michele Angelo was only 27.
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Part A: Grammar and Vocabulary

Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see

four words or phrases, marked (1), (2) , (3), and (4). Choose the one word or phrase that
best completes the sentence. Then mark your answer sheet.

76. If the TV was built into the ceiling, you ............. there while watching your favorite programme.
1) could lie 2) had lain 3) lay 4) have lain

77.We would love to come to your wedding party, ...c...eeee.. we will be away that weekend.
1) and 2) so 3) but 4) or

78. There are more .............. animals in a beautiful zoo near their village, aren’t there?
1) of eight hundred 2) than eight hundreds  3) about eight hundred  4) than eight hundred

79. They ..cvvvvienens much time for sport since they started their researches into lung disease.
1) won’t have 2) haven’t had 3) don’t have 4) hadn’t had

80. She pointed to her watch as a/an ............. that it was getting late and she left the meeting
immediately.
1) absence 2) sign 3) alternative 4) achievement

81. The school has used a combination of modern and ............. methods for teaching reading to all
students.
1) mental 2) impossible 3) emotional 4) traditional

82. I’m absolutely sure that the house is big enough to ............. everyone who will come to the party
tomorrow.
1) contain 2) collect 3) confirm 4) combine

83. Peter has bought a model of a red London bus as a .............. of his trip to London.
1) discovery 2) solution 3) souvenir 4) member

84. We should thank them for their donation. It was very generous of them. The underlined word
MEANS .cceeececeees .

1) openhanded 2) creative 3) regular 4) probable

85. A ciieiiinnnnnn. car is a vehicle with an engine that uses both petrol and another type of energy,
usually electricity.
1) simple 2) gradual 3) hybrid 4) portable

86. The company ............. that it is not responsible for the pollution in the river, but the villagers
didn’t think so.
1) claims 2) refers 3) provides 4) expands

87. lwantto............. for what I said. I didn’t mean it, and I’m sorry if it hurt your feelings.
1) promise 2) apologize 3) revolve 4) appreciate

Part B: Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and
decide which choice (1), (2), (3), or (4) best fits each space. Then mark your answer sheet.

Renewable energy is produced using natural resources that are .....88.... replaced and never run out.
Just as there are many natural sources of energy, there are many renewable energy technologies. Solar
is one of the most ....... 89....... , wind power is one of the most widespread and hydropower is one of
the oldest. Other renewable technologies harness bioenergy or ocean energy to produce ........ 90.........
or electricity.

Equally exciting are new enabling technologies that help to manage renewable energy so it ....91.......
day and night while strengthening the electricity grid. These enabling technologies .....92...... battery-
storage, supply prediction and smart grid technologies.
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88. 1) constantly 2) probably 3) orally 4) unfortunately
89. 1) entertaining 2) cultural 3) well known 4) sociable
90. 1) hot 2) heat 3) to heat 4) heater
91. 1) produced 2) can produce 3) produces 4) can be produced
92. 1) include 2)carry 3) recognize 4) cause

Part C: Reading Comprehension

Directions: In this part of the test, you will read two passages. Each passage is followed by

four questions. Answer the questions by choosing the best choice (1), (2), (3), or (4) . Then
mark your answer sheet.

Reading 1:

Marie Curie was one of the most famous scientists in history. Together with her husband, Pierre,
she discovered radium, an element widely used for treating cancer, and studied uranium and other
radioactive substances. Pierre and Marie’s friendly collaboration later helped to unlock the secrets of
the atom.

Marie was born in 1867 in Warsaw, Poland, where her father was a professor of physics. At an
early age, she displayed a brilliant mind and a happy personality. Her great excitement for learning
prompted her to continue with her studies after high school. She became dispel acid, however, when
she learned that the university in Warsaw was closed to women. Determined to receive a higher
education, she defiantly left Poland and in 1891 entered the Sorbonne, a French university, where she
earned her master’s degree and doctorate in physics.

Marie was fortunate to have studied at the Sorbonne with some of the greatest scientists of her day,
one of whom was Pierre Curie. Marie and Pierre were married in 1895 and spent many productive
years working together in the physics laboratory. A short time after they discovered radium, Pierre
was killed by a horse-drawn wagon in 1906. Sadly she recalled their close relationship and the joy that
they had shared in scientific research.

She was the first woman to be given a professorship at the world-famous university. In 1911 she
received the Nobel Prize in chemistry for isolating radium. Although Marie Curie eventually suffered
a fatal illness from her long exposure to radium, she never became dissatisfied about her work.
Regardless of the consequences, she had dedicated herself to science and to revealing the mysteries of
the physical world.

93. When Marie learned that she could not attend the university in Warsaw, .............
1) she left Sorbonne University 2) she received higher education
3) she left her hometown 4) she decided to stay in Poland

94. According to the passage Marie .............
1) was the first person who was given a professorship
2) spared no pain to reveal the mysteries of the physical world
3) received the Nobel Prize in the 19" century
4.was ill from her childhood

95. The word ‘collaboration’ in line 4 is closest in meaning to .............

1) acting together 2) taking care 3) finding solution 4) having access
96. Even though Marie became fatally ill from working with radium, she was never
1) troubled 2) worried 3) disappointed 4) suc cessful
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Reading 1:

Obesity is a medical condition in which excess body fat has accumulated to the extent that it may
have an harmful effect on health, leading to reduced life expectancy and increased health problems. It
increases the likelihood of various diseases, particularly heart disease, type 2 diabetes, breathing
difficulties during sleep and certain types of cancer. Obesity is most commonly caused by a
combination of excessive dietary calories, lack of physical activity, and genetic weakness. Evidence to
support the view that some obese people eat little yet gain weight due to a slow metabolism is limited;
on average obese people have a greater energy expenditure than their thin counterparts due to the
energy required to maintain an increased body mass.

The primary treatment for obesity is dieting and physical exercise. To supplement this, or in case of
failure, anti-obesity drugs may be taken to reduce appetite or inhibit fat absorption. In severe cases,
surgery is performed.

Obesity is a leading preventable cause of death worldwide, with increasing prevalence in adults and
children, and authorities view it as one of the most serious public health problems of the 21st century.
Many people in most parts of the modern world hate obesity (particularly in the Western world),
though it was widely perceived as a symbol of wealth and fertility at other times in history, and still is
in some parts of the world.

97. According to the passage .............

1) Although obesity is widespread, it is preventable

2) obesity increases life expectancy

3) obesity will decrease our health problems

4) doing physical exercise is a preventable cause of death
98. The word ‘it’ in line 2 refers to .............

1) life 2) life expectancy 3) health 4) obesity
99. We understand from the passage that .........

1) no one can cure obesity in modern world

2) some people believe that being obese is a sing of being wealthy

3) reducing appetite is the most important reason for obesity

4) increased body mass will lead to physical activity

100. The best treatment for obesity is .............
1) related to individuals lifestyle 2) Medical treatments
3) a cause of death 4) surgery
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Part A: Grammar and Vocabulary

Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see

four words or phrases, marked (1), (2) , (3), and (4). Choose the one word or phrase that
best completes the sentence. Then mark your answer sheet.

76. Our country’s damaged economy ............. skillfully by the government during the last three
months to balance the prices of goods.
1) has been managed 2) has managed 3) was managed 4) managed

77. How would your mom behave if she ............. the matter that you had broken the expensive vase
bought by her mom?
1) know 2) knows 3) was known 4) knew

78. They ............. a lot of practical translating experience before they actually applied for the job in
the company.
1) got 2) have got 3) had got 4) were getting

79. Since there was .......... information on how to protect endangered languages, the linguists decided to
find a solution for saving them.
1) little 2) some 3)few 4) a lot of

80. Daniel was chosen as a brilliant engineer making excellent discoveries, and was surprisingly
............. by the factory.
1) discouraged 2) punished 3) encouraged 4) published

81. The wonderful world in which we live is like a...... book that we have to read it carefully to find
interesting facts.

1) strong 2) strange 3) boring 4)heavy

82. While he couldn’t use a ............. statement to mention a good definition for the new word, we
found out what he meant.
1) regretful 2) meaningful 3) hopeful 4) peaceful

83. Knowing about the valuable ............. of our parents is important and helps us to be proud of our
last family heritage.
1) exception 2) experiment 3) expectation 4) experience

84. There were ............. reasons for the police to hide their own identity in the secret mission of
arresting the thieves.
1) countless 2) valueless 3) harmless 4) useless

85. The ............. strongly advises us to be hospitable to people and dedicated to saving our natural
environment all the time.
1) region 2) religion 3) area 4) era

86. It was an unexpected ............. which was put on the government in that difficult economic
situation to balance the coin costs.
1) pressure 2) cause 3) custom 4) pleasure

87. The time in which we will live and do anything needed by our lives and handle our responsibilities
is called the .............
1) attempt 2) future 3) generation 4) destination
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Part B: Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and
decide which choice (1), (2), (3), or (4) best fits each space. Then mark your answer sheet.

The ideal lifestyle is possible. Everyone can live the way.....88...want, and in fact, they do. Because
the way you live now, regardless of whether you like it or not, is what you chose to live like

you must first ......89... by yourself: “What do I want my life to be like?” and “Whom do | want to
be similar to”.

These two questions are the first .... 90 ....towards your journey to the ideal lifestyle. Then answer
them in the best and most honest way possible, because this will be your definition of what you want in
life and who you want to....... 91 ..., and will eventually become your reality after some time. And
remember the .... 92 ... that in order to have an efficient lifestyle, try to enjoy life more, do what you
love, and become someone you can be proud of.

88. 1) they 2) she 3) he 4) we

89. 1) ask 2) asked 3) be asked 4) are asked
90. 1) pages 2) lives 3) lacks 4) steps

91. 1) become 2) love 3) respect 4) discover
92. 1) variety 2) fact 3) people 4) energy

Part C: Reading Comprehension

Directions: In this part of the test, you will read two passages. Each passage is followed by

four questions. Answer the questions by choosing the best choice (1), (2), (3), or (4) . Then
mark your answer sheet.

Reading 1:

A dictionary is a very important tool for anyone who is learning a new language. With a good
dictionary you can look up the meaning and the collocations of an English word, find the English
translation of a word in your language, check the spelling of a word, check the plural of a noun or past
tense of a verb, find the synonym or antonym of a word, and etc.

To be a good dictionary user, you must decide which is the best dictionary for any of the purposes
mentioned above. Electronic dictionaries are the best choice for students. Most of them contain native-
language equivalents and explanations, as well as definitions and example sentences in English. They
can speak the English word to you, and they are easy to carry around. However, they are expensive
and easy to lose, so put your name on yours! but a cheaper possibility, if you are going to work at the
computer, is to use an online dictionary.

And if you are the student who already have a high standard of English and want to learn about
word use, a good monolingual dictionary can be mostly recommended for you, while sometimes using
a bilingual one is definitely necessary.

The most important factor after choosing the appropriate dictionary you must consider is that
when to use the dictionary? If you look up every new word you see or hear, you will spend your whole
day with the dictionary in your hand. That’s no good! You have to be clever and choose the right
words to check and the right time to do it.

93. It can be understood from the passage that if you want to be a good dictionary user, ............ .

1) you must have an electronic dictionary because it is the best choice for students.

2) you must have all purposes mentioned to be able to select the best dictionary.

3) you yourself must mention some purposes to select the best dictionary.

4) you must be able to select the best dictionary according to your aims.
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94. According to the passage, all of the following are NOT specifically mentioned as the best dictionary
choice for advanced level students EXCEPT .............

1) a bilingual online dictionary 2) a monolingual electronic dictionary
3) an electronic dictionary 4) an online dictionary
95. The word Equivalents in line 2 in the second paragraph is closest in meaning to....... .
1) equals 2) differences 3) purposes 4) factors
96. The passage is most likely to continue with .............

1) when you are reading a text you aren’t allowed to look up the new words at all.

2) When you find a new word while reading, look it up at once.

3) When you find new words while reading, finish the paragraph and then look the right ones up.
4) when you are reading a text you should look up all new words you see or hear.

Reading 2:

Some people wish to be famous! Fame certainly has its benefits, and of course there are many paths
to get to fame. In order to find any path to fame you should first decide how famous you want to be.
Because fame comes at many different levels. For instance, you could be famous in your school or
workplace. You could be famous in your hometown or your state. Alternatively, you could go for
universal fame and attempt to be famous around the world, so it's up to you to decide how much fame
you want.

The first step to find a path to fame is to create a unique solution to a certain common problem.
Just think about the problems in your life and in the world around you. If you can come up with a
unique solution or a unique invention, you may become famous for it. For example, Marie Curie
became famous as a scientist and inventor of the X-ray as a big solution to a common problem.

The second step is being generous in a unique way. Some people become famous by doing
something for other people in a really unusual way. It could be making a large donation, but you could
just raise money in some way that's out of the ordinary. For example, you could make it your goal to
bake and sell a million brownies to raise money to help a charity supporting the poor.

And the third one is working on a world record. Another way you might become famous is by
breaking a world record. Read through the world records, and figure out if you could work on one to
break. Keep in mind that your world record will likely need to be verified by a Guinness Book of
World Record's official. Plus, to truly get famous this way, you need to pick a record that people care
about, rather than just any record.

But keep in mind that it often takes a lot of work to become and stay famous, so if you're not willing
to work hard, this path may not be the one for you. Plus, even if you work your hardest, you may still
not become famous, as it takes an element of luck, as well.

97. All of the following are mentioned as different directions to achieve fame EXCEPT .............
1) making the correct decision about which level of fame you are willing to be in.
2) working on the other famous people’s world records to see whether they are verified or not.
3) finding a unique way in which you can help people whether in a usual or unusual way
4) finding a good solution to a specific common problem in which the world is involved.

98. What is the closest meaning of the word ""ultimate™ in paragraph one?

1)global 2) alternative 3) positive 4) common
99. What does the word "one" in the last paragraph refer to?

1) being willing to take a lot of work 2) being willing to work hard

3) the path of becoming famous 4) having the element of luck
100. The passage seems to imply that .............

1) just considering how much attempt needed to get to the fame is not enough to get it.
2) true fame is when you become famous throughout the world.

3) one may reach higher levels of fame by trying the lower levels first.

4) fame comes to people who are lucky.
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Part A: Grammar and Vocabulary

Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see

four words or phrases, marked (1), (2) , (3), and (4). Choose the one word or phrase that
best completes the sentence. Then mark your answer sheet.

76. A: ""Do you know if he is a good doctor ?*

B:"Yes, heis............. doctor that | know."
1) the good 2) as good as 3) better than 4) the best
77. Only one of the boys ............. when the policeman was talking about the traffic rules.
1) had listened 2) were listening 3) was listening 4) has listened
78. The room looks very clean. I'm sure that it .............
1) has been cleaned 2) was cleaned 3) is cleaning 4) is cleaned
79. If my father let me go out with my friends , I ............. swimming.
1) will go 2) would go 3) went 4) go
80. We are building a bigger battery to store the energy we ............. from the river.
1) generate 2) save 3) create 4) reflect
81. | told Reza that if he didn't eat ............. he would be overweight and become sick.
1) recently 2) calmly 3) properly 4) repeatedly
82. In winter, with so many people at their house, they were ............. that the weather was warm and
dry so they could use the courtyard for the children.
1) energetic 2) unsafe 3) emotional 4) fortunate
83. They looked for the medicine in drugstores , but the search for it ended in ......... o
1) time 2) future 3) failure 4) lifestyle

84. Many foreigners visit Yazd every year. Its ancient and historical buildings are the main .............
in Yazd.

1) attractions 2) location 3) entertainments 4) cultures

85.We are going t0 ....cceuenens cheetahs' homes by making movies about their life, and teaching people
how to take more care of them.
1) destroy 2) protect 3) discover 4) make up

86. The boss was really ............. the workers because they hadn't followed his orders immediately.
1) tired of 2) sorry for 3)sure about 4) angry with

87. | don't know why he didn't read the introduction and jumped into the next part. He had better
have a good .............
1) combination 2) imagination 3) explanation 4) description

Part B: Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and
decide which choice (1), (2), (3), or (4) best fits each space. Then mark your answer sheet.

Do you know that laughter can help your immune system? It's even possible that with each
laughter, you reduce your chance of ...... 88..... a cold or having an allergy attack. In fact, if you laugh

before you go to bed, you will probably ...... 89.....a very good night's sleep. The ...... 90...... research
on laughter and the desire to get well are making more and more people use ........ 91..... to feel better.
Alen Klein says that we all need to laugh, ...... 92...... at ourselves. To develop our ""humor skills'' we

need to see the humor in our own actions and reactions. With practice we can get better at this.
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88. 1) getting 2) get 3) to get 4) gets
89. 1) gain 2) have 3) take 4) make
90. 1) moral 2)social 3) normal 4) medical
91. 1) medicines 2) sleep 3) laugh 4) result
92. 1) especially 2) effectively 3) fluently 4) mostly

Part C: Reading Comprehension

Directions: In this part of the test, you will read two passages. Each passage is followed by

four questions. Answer the questions by choosing the best choice (1), (2), (3), or (4) . Then
mark your answer sheet.

Reading 1:

It was the first day of school and Josh knew it wasn't going to be a good one. It was only 8:10 and
he was already running late and he had already gotten into a row with his mother. As he ran very fast
to catch the bus, he felt bad about leaving his mom still angry. After all, she was right. He should have
gotten up when the alarm clock went off. The driver waited just a moment before shutting the bus
doors.

Josh froze in his tracks as he watched the bus go away. Now he would have to go back home and
not only face his mom, but also ask for her for a ride to school. He closed his eyes for a moment, then
opened them wide.( His mom said this makes him calm. He hoped she was doing it, too.) Then he
shoved his hand into his pockets and walked back home.

Mom didn’'t even look shocked to see him when he came back in the door. It was more of a glare.
Josh knew what it meant — | told you so. Rather than arguing with his mom, he just apologized and
sweetly asked for a ride to school. Mom's face softened and she went to get her keys.

93.Why did Josh know that his first day of school was not going to be a good one?

1) His mother told him so. 2) He was running to school.

3) He didn't enjoy going to school. 4) He hadn't gotten up early enough for school.
94. What does the pronoun "'this™ in paragraph 2, line 3 refer to?

1) Closing his eyes 2) Having to go back home.

3) Shoving his hands into his pockets 4) Facing his mother

95. According to the passage, ...c.eceeee..
1) the driver saw Josh but didn't wait for him
2) Josh arrived school on time
3) he argued with his mother after coming back home
4) his mother took him to school.

96. Which of the following best describes his mother's first reaction when she saw him come back
home?
1) shocked 2) angry 3) friendly 4) calm

Reading 2:

John Milton (1608-74) is usually thought of as the greatest of all English poets after Shakespeare.
His most magnificent poem is Paradise Lost (1667), which tells the story of God's dealings with
mankind, from the creation of the world, as told in the Bible.

Milton was born in London and went to St. Paul's School, where he was so eager to learn that, he
said, ""From the twelfth year of my age, | scarce ever went to bed before midnight™. At 16 he went to
Christ's College, Cambridge, and when he left after more than seven years, he settled down to
continue studying in a Buckinghamshire village called Horton. Already he knew that he wanted to
write a great poem and he believed that to do this he must be not only a learned man but also a good
one.

Although he was not ready yet to begin his great task, Milton did write other poems while he lived
at Horton.
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Among them were L "Allegro and Il Penseroso (both 1631-32). L *Allegro described the things that
a cheerful man likes and Il Penseroso the things a serious man likes. Also written at Horton were
Comus (1634), a masque in praise of purity, and Lycidas (1637), a beautiful, sad poem lamenting the
death of Edward King, a fellow-student who had been drowned.

97. The passage is mainly about .............
1) Milton's early life
2) Milton's life and work
3) the way the Bible influenced Milton
4) why Shakespeare is considered a better poet than Milton

98. The passage points out that Milton started his school .............
1) when he was 10 2) at St. Paul's School
3) in Christ's College 4) because he lived in London
99. From the sentence, "'l scarce ever went to bed before midnight™, we conclude that Milton...
1) had sleeping problems 2) stayed up studying
3) was not tired 4) loved the night time

100. Which statement about Milton's poems is NOT true?
1) Milton did not write any poems while he was in Horton.
2) L 'Allegro described the things that a cheerful man likes.
3) Penseroso described the things that a serious man likes.
4) He also wrote Comus, a masgue in praise of purity, and Lycidas.
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Part A: Grammar and Vocabulary

Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see

four words or phrases, marked (1), (2) , (3), and (4). Choose the one word or phrase that
best completes the sentence. Then mark your answer sheet.

76. Let’s go for a walk before having lunch, ............. .

Dwill we 2) will you 3) shall you 4) shall we
77. Don’t worry about Jim and me, we can handle everything ............. .

1) himself 2) themselves 3) ourselves 4) myself
781 .ceeinininens a house if I were you. It is the time to do it.

1) will buy 2) am going to buy 3) would have bought  4) would buy
79. This is a difficult question, so it can’t ............. so easily within a short time.

1) answer 2) be answered 3) to be answered 4) have answered
80. The school made a plan to ............. its playground.

1) provide 2) endanger 3) balance 4) expand
81. You can’t play the game with missing pieces. You need the ............. set.

1) calm 2) countless 3) basic 4) entire
82. The teacher ............. the climate in Tehran with the climate in ahvaz.

1) transmitted 2) compared 3) collected 4) cured
83. Her smile and her cheerfulness are what make her a/an ............. person.

1) attractive 2) brave 3) immediate 4) regular
84. France is a/an ............. holiday destination for the young.

1) aboard 2) polite 3) wonderful 4) religious
85. Children rarely show any ............. for what their parents do for them.

1) function 2) appreciation 3) generation 4) description
86. We will ............. no pain to get the best results.

1) reduce 2) improve 3) handle 4) spare
87. Only a truly ............. scientist would want to read such a long and detailed report.

1) emotional 2) appropriate 3) cruel 4) dedicated

Part B: Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and
decide which choice (1), (2), (3), or (4) best fits each space. Then mark your answer sheet.

Chess is ...... 88...... one of the oldest games in the world , and perhaps also the most widespread.
No matter where you go, it is surely that you will be able to find someone living there who plays ,or at
least knows about it . Various writers have attributed the ...... 89...... of the game to every one of the
great early ...... 90...... . A careful examination reveals that Indians at round 550 A.D. may be the
strongest players. A Persian poem writer in 600 A.D. declares that chess came to Persia from India .
There are no....... 91....... references to the game in any literature what so ever. Over the centuries ,
chess ....... 92....... across the globe, becoming more popular even as earthly empires rose and fell.

88- 1) luckily 2) certainly 3) fortunately 4) privately
89-1) invention 2) end 3) emphasis 4) expression
90-1) civilizations 2) graves 3) observations 4) vessels
91-1) comfortable 2) rude 3) specific 4) brave

92-1) protected 2) addicted 3) contained 4) spread
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Part C: Reading Comprehension

Directions: In this part of the test, you will read two passages. Each passage is followed by four
questions. Answer the questions by choosing the best choice (1), (2), (3) or (4). Then mark your
answer sheet.

Passage 1

Everyone interested in painting has heard the name of Spanish painter, Picasso. Pablo Ruiz
Picasso was the favorite child of his family. He was the only boy among a lot of girl cousins. That was
enough to make him important, but his father liked him especially because it was clear that Pablo was
going to be an artist. He knew the word for pencil before he could say Mama or Papa and right from
the beginning he was very much interested in colors. When he was small, he spent hours making pretty
drawings of animals and people. If his mother sent him out to play, he would go on drawing in the dust
under the trees. One of his favorite models was his younger sister, Lola.

Don Jose Ruiz, Pablo's father, was the director of the museum at Malaga in Spain. He earned
only a small salary but there wasn’t much work and was able to practice his hobby, which was
painting pigeons and other birds. He knew a great deal about the technique of painting and he taught
it all to Pablo.

Life in Malaga was very pleasant. In the hot sunshine, father and son used to walk down to the
sea to look at the boats at the seaside or go round the open markets. They looked a strange pair. Don
Jose was tall and thin with red hair and beard and sad grey eyes.

He was also shy and quiet. Pablo was the opposite, like his mother, he was short and a little fat. He had
very black hair and bright black eyes which noticed everything going on around and he wasn’t shy.

93- Which item made Picasso more lovely for his father?

1) His paintings 2) His fathers attentions

3) His talent in painting 4) Number of cousins

94- Which one could attract Picasso more when he was a kid?

1) His family attentions 2) Playing with dust and sand
3) Drawing and painting 4) Passing his time with Lola
95- What was Picasso's father's hobby ?

1) His work at the museum 2) Passing his time with his son
3) Painting and drawing birds 4) Teaching painting to Picasso
96- What does "'they" in paragraph 3 refer to?

1) Picasso's family 2) Don Ruiz and his wife

3) Picasso and Lola 4) Don Ruiz and Pablo
Passage 2

Alexander Graham Bell invented the telephone in 1876. The story behind this invention,
however, began many years earlier.

Bell first worked for his father. He developed a system for teaching deaf people to speak.

From this early experience with the study of sound, Bell became interested in the telegraph, a
device which sends sounds by an electric current. During one experiment with his assistant, Thomas A.
Watson, Bell found out how electric current could send the vibrations of a person's voice.

On March 10/1876, Bell and Watson were working in different rooms. Bell poured some acid on
his clothes by accident and said , "Mr. Watson, come here. I want you!" Watson heard the message
through the telephone string and came immediately. These were the first complete sentences ever sent
over the telephone.

Within a year the new device was greatly improved. In April, 1877, Bell completed the first
telephone conversation between Boston and New York, a distance of more than two hundred miles.

Today people almost everywhere can speak to each other by telephone. There are even mobiles
and plane phones which send sounds through air waves rather than telephone lines. The telephone has
truly become a necessary part of everyday life for people all over the world.
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97- Which item was used by Bell to develop the telephone?
1) Telegraph 2) Phonograph 3) Deaf teaching system 4) Both one and three
98- When did the first phone conversation happen?
1) Early 19th century 2) In March, 1876 3) In April, 1877 4) In March, 1877
99- The first sentence sent by phone was........... .
1) accidental 2) digital 3) cultural 4) conversational
100-Which sentence is true?
1) Bell's father was his assistant. 2) Watson was Bell's boss.
3) Bell and Watson's father were friends. 4) Bell and Watson were coworkers.
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دانش آموزان عزیز: و همکاران گرامی عضو کانال این هدیه از طرف من و مولفان عزیز دیگر همراه با جواب تقدیم شما می گردد. ارسال این سوالات با ذکر منابع بلا اشکال است. هر گونه سو استفاده از این مجموعه بخاطر داشتن شابک جرم محسوب می شود و متخلفان مورد پیگرد قانونی قرار می گیرند. با تشکر - علی عاشوری - مدرس زبان و طراح آزمئن های موسسات مطرح کنکوری
09123711046
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